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Q.4 Raghav pretends to ride a broomstick to represent riding a horse. This ability is called -
Options 1. Symbolic representation
2. Seriation
3. Conservation

4. Egocentricism

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Status : Answered
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Q.6 Which characteristic is a student with Attention Deficit Hyperactive Disorder (ADHD) likely
to have?

Options 1. Tendency to listen to others carefully for long.
2. Tendency to sit and do work quietly.
3. Tendency to get distracted easily.
4. Ability to read long passages without breaks.

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.8 Akram instructs himself while assembling a set of blocks. In light of Lev Vygotsky's theory.
Akram is engaging in speech.

Options 1. Egocentric
2. Socialized
3. Private

4. Collective

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.11 The purpose of assessment is -

Options 1. to encourage classroom competition.

2. to motivate children to study under threat.
3. to provide credible feedback on learning.

4. to identify children as 'slow’, ‘bright’ and ‘problematic’.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.12 Which of the following statement regarding the role of heredity and environment in child
development is correct?

Options 1. The role of environment is fixed, whereas the impact of heredity can be altered.
2. The relative effect of heredity and environment vary in different areas of development.
3. Role of both heredity and environment are fixed and cannot be altered.

4. The role of heredity is fixed whereas environmental factors do not play much role.
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Chosen Option : 2
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Q.14 As an elementary school teacher, which of the following assessment strategy will you use
in the classroom to assist children with learning disability?

Options 1. Decrease the time allowed for writing.
2. Avoid spelling as a criterion for evaluating assignments.
3. Keep handwriting as a creation for evaluating assignments.

4. Construct tests that require maximum writing.
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Status : Answered
Chosen Option : 3
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Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.22 In the concept of Zone of proximal development proposed by Lev Vygotsky, the term
‘Proximal’ indicates that the assistance provided learners current competence.

Options 1. is linear with
2. goes just below
3. goes just beyond
4. is far beyond

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.23 What pedagogical strategies should schools adapt to address individual differences
among students?

Options 1. Cater to the individual needs of children by being flexible.

2. Categorize children based on their cognitive abilities and teach them in separate
sections.

3. Follow uniform curriculum and assessment for all students.

4. Ensure that all individual differences among the children are removed.

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.29 Which principal of development states that motor development proceeds from the centre
of the body towards the extremities?

Options 1. Peripheral

2. Cephalocandal

3. Cerebral

4. Proximodistal

Question Type : MCQ
Status : Answered

Chosen Option : 4
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Options 1 A test based on recalling of facts and formulae
2. Using ICT based tools for assessment

3. Using concept maps

Q.6 Which of the following is NOT an appropriate assessment method for primary class children?

4. Asubjective test according to the learning levels of children
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Chosen Option : 1
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Q.18 Which one of the following is NOT true about the ‘nature of concepts’ in mathematics?
Options 1. Abstract in nature

2. Logical in natuse

3. Hierarchical.in-nature

4. Concrete in nature

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.20 According to “National Curriculum Framework® 2005, which of the following processes are indicative of
*Mathematization of child’s thinking™?

Options 1 \fathematical communication only through a formula
2
Solving the problem using formal procedures and checking the answers from an answer key
3.
Doing an activity on addition following the strict prescribed instructions given by the teacher
4

Estimating the weights of different objects in surroundings and discussing the answers with peers and teachers

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.24  Assessing children’s previous knowledge of mathematical concepts is important because,
Options - mathematics is integrated with other subjects
2. it helps in memorising mathematical facts
3. mathematical concepts are hierarchical in nature

4. it is helpful in summative assessment
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Status : Answered
Chosen Option : 4
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Section : Environmental Studies
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Q.27 As per National Curriculum Framework 2005, which of the following statements describe
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3. ¥9H(laughing)
4. FUSEIH(gargling)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 1
Q.27 - - . l . -
USRI -fETEi(Remedial teaching)

2. BIEAT: AT 3TgH T
3. W:WE@;E’W: T

4, ITTIATT ST IeATE-TUT WA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.28 sz e TR ST FT W U ST WEE| ST A 9 3 e
i FIT; | AN . S|
. TR
2. T ST
3. THIE-TEE:
4. T
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q29 guTETeET ST T STEIE-SRGHT WU NERTH| 3 G e AT St

=

1. ATTarsTERT =AT(Guide composition)
2. a1 =1 Free composition)
3. fafaar = (Controlled composition)

4. AT-T=A1(Pre-composition)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

*% ur-srfrrer-gfE: gty 2

-Adda

4. @

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




